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Linearized knot diagam
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1 Solving Sequence
15—>2-—>6-—>7-—>4—>>10—>3-—>9-—>8 > 03,7
A knot diagranﬂ ¢t ¢  C €4  Ci0  C2  C9  Cs

Ideals for irreducible component#ﬂ)f Xpar

I = w4 2u+ 1)

* 1 irreducible components of dim¢ = 0, with total 40 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u**4u? +...+2u+1)

(i) Arc colorings

w= (o)

0
a5 = u
1
ag = U2
—u
a6 = \ —ud +u
—u3
ar = \—ud+u
ud
as = \ud —ud4u
wd—uS+ut+1
a10 = \ ¢ — 208 + 3ub — 2u* + u?
wl® — 3u + 5ul2 — 4419 + 308 — 208 + 20t + 1
a3 = \ gy — 4y 4+ 9y — 12412 + 11610 — 618 + 2ub + u?
wl® — 3u' + 5u!? — 4410 + 308 — 208 + 2ut + 1
ag = wl® — 4yt + 8ul? — 8ul0 + 448
—u® +6u? + - —4u® —wu
ag = \ —u? + 7" +... —ud+u
(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u? + 4007 + 4u36 — 20065 — 360 4 644u3? + 164u3? — 147203 — 484030 +
250012 + 1020u?® — 3236u2” — 1616u?® + 3252125 + 2004u?* — 2608u?3 — 2040u?? +
175202t + 1812u2° — 1036w — 1468u'8 + 51217 + 106416 — 160u'® — 652u* — 16u'3 +
340u'? + 720! — 168ut0 — 9612 + 68u® + 76u” — 8ub — 24uS — 4ut — 4u® — 4u® — 8u —6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,Cs w4 4 2ut1

C2 u® +5ut 4+ 120+ 1
c3,C8 u® — w3+l 41

€4 ul® 19030 + - 202 1
Co ul® 4303 + ...+ 61u + 16
c7,Co ul® 4130 + - — 2%+ 1
10 ul® —u® 4 4 TOu + 25




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1,¢5 Y —19y% + .+ 2y + 1

Co g P 12y 41
¢, Cs Y0+ 13y% . =2y 1

Cyq g 1550 4 Ay 1

Co Y0+ 9439 ... 4 4695y + 256
C7,Cy Y0 429930 o —dy +1

c10 yl0 — 1193 + ... — 11300y + 625




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1C)

Cusp shape

= —1.028980 + 0.3568611

—1.87833 + 1.428661

—1.75477 — 0.645341

—1.028980 — 0.3568611

—1.87833 — 1.428661

—1.75477 4 0.645341

SRS S

—0.605776 4 0.6687941

4.58827 + 5.881661

4.65065 — 6.094821

~
IS

= —0.605776 — 0.6687941

4.58827 — 5.881661

4.65065 + 6.094821

—1.085730 + 0.2025531

—0.384043 — 0.0655311

—1.65195 — 0.651821

= —1.085730 — 0.2025531

—0.384043 4+ 0.0655311

—1.65195 + 0.651821

0.571687 + 0.6732641

5.18330 — 0.150851

6.02823 + 0.496181

0.571687 — 0.6732641

5.18330 + 0.150851

6.02823 — 0.496181

—0.964797 + 0.5812121

3.52924 — 1.028261

3.02738 + 0.157351

—0.964797 — 0.5812121

3.52924 + 1.028261

3.02738 — 0.157351

= 1.120660 + 0.2125491

—1.32786 + 5.577681

—3.43862 — 4.390351

IS RS ESE R B -~ E~

1.120660 — 0.2125491

—1.32786 — 5.577681

—3.43862 + 4.390351

~
IS

= 1.110950 + 0.2923891

—6.07985 — 0.036741

—9.04849 — 0.169431

1.110950 — 0.2923891

—6.07985 + 0.036741

—9.04849 + 0.169431

0.991959 + 0.5808811

3.94345 — 4.711821

3.76114 + 5.414081

0.991959 — 0.5808811

3.94345 4 4.711821

3.76114 — 5.414081

—0.355458 + 0.7660831

3.32299 — 8.177291

3.05192 + 5.821281

—0.355458 — 0.7660831

3.32299 + 8.177291

3.05192 — 5.821281

0.374958 + 0.7501721

4.20581 + 2.436911

4.87403 — 0.791321

0.374958 — 0.7501721

4.20581 — 2.436911

4.87403 + 0.791321

IS RS ESE R B A~

= 1.112780 4 0.3798781

—3.07700 — 5.781081

—4.88901 + 6.617151

~
IS

1.112780 — 0.3798781

—3.07700 + 5.781081

—4.88901 — 6.617151

—1.093860 + 0.474186.1

—2.46460 + 1.676111

—4.01967 — 0.725811

= —1.093860 — 0.4741861

—2.46460 — 1.676111

—4.01967 + 0.725811

1.075660 + 0.5363221

—0.51656 — 5.286411

1.70674 + 5.926771

= 1.075660 — 0.5363221

—0.51656 + 5.286411

1.70674 — 5.926771

—0.626259 + 0.4613101

—0.75320 + 1.722421

—1.30257 — 5.150941

= —0.626259 — 0.4613107

—0.75320 — 1.722421

—1.30257 + 5.150941

—1.116800 +- 0.5405541

—4.40573 + 7.548841

—5.84455 — 7.163231

IS RS ESE R B A~

—1.116800 — 0.5405541

—4.40573 — 7.548841

—5.84455 + 7.163231




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

—0.294391 + 0.6958951

—2.04511 — 2.810201

—2.71121 + 3.604151

—0.294391 — 0.6958951

—2.04511 + 2.810201

—2.71121 — 3.604151

1.109470 + 0.5758761

2.04477 — 7.463611

1.61835 + 4.866631

1.109470 — 0.575876.1

2.04477 4 7.463611

1.61835 — 4.866631

—1.120570 + 0.5759701

1.06923 + 13.239801

0. —9.633221

—1.120570 — 0.5759701

1.06923 — 13.239801

0. +9.633221

0.404022 4+ 0.6147151

1.43625 4 0.717211

6.03452 — 1.248291

gle|gle|g|g|g|
|

0.404022 — 0.6147151

1.43625 — 0.717211

6.03452 + 1.248291

u =

—0.079510 4 0.6046101

0.18870 + 2.317841

0.10490 — 3.068651

u =

—0.079510 — 0.6046101

0.18870 — 2.317841

0.10490 + 3.068651




II. u-Polynomials

Crossings u-Polynomials at each crossing

c1,¢s ut® 4 2ut 1

C2 u® + 5030 4+ 12u 41
c3,Cs u = 41

cq W0 19030 4202

Co u® + 3u 4o 4 61lu + 16
c7,Cy w1360 4+ =20 41

C10 ul® — w3 4 4 T0u + 25




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1,C5 y — 1997 + - 127 1

€2 y Oy 12y 1
c3,Cs 0+ 1330+ — 2% 41

cq v 45y 4 4yt 1

C6 y*0 + 9y + ... 4 4695y + 256
C7,Cy yP0 429930 4+ —dy+1

€10 y*0 — 1193 + ... — 11300y + 625




